BEHEHRER (ERI-1-0-2-5)

FEM—-1 - MNRB0HERE FEI-2:5IAFHEILIIHERE

B EEE i
m—1(248) m—2(1#8) EhfE (IM-2)
N epr | epe |REEEEL ome
E & 35 3 25 0.5
# = 15 15 15 0.5
% B F 1 25 15 05
B2 #® 1 1 1 0.5
' O 1 1 1 0.5
x i 2 2 15 0.5
] 2 2 15 0
5% E & 0.5 0 0 0
# B O 1 0 0 0
e 2 0 0 0
W 1 0 0 0
HROHE EE 1 1 05 EDUTEBNTESE
tHak GEE- 55 4 5 45 3
o E g =B 5 5 0 0
4 Z D (RERE) 1 1 05 0
= Z Dt () 0 2 s 0
7 7E 81053 x5H) 1 1 1 giﬁ%fﬁﬁ
NTEE
B B ERE D FEfE 15 2 15 0
MATTEMAH 30 30 30 6

AR, BADOEREBEISE TREEZRE O, HBHTZV D B O ERIFFRITR,

M FRINTHEAN LRI CTHDI3 A (1 F 2/R5H]) 75 06 T#REL,




